4 3 i 2 | 1

THE INFORMATION CONTAINED HEREIN IS THE EXCLUSIVE PROPERTY OF VIRGINIA PANEL CORPORATION REVISIONS

DO NOT SCALE DRAWING AND IS SUBMITTEDFOR USE BY THE CUSTOMER ONLY. THE DATA SHALL NOT BE DUPLICATED, USED,
OR DISCLOSED IN WHOLE OR IN PART FOR ANY PURPOSE OTHER THAN TO MAINTAIN THE EQUIPMENT REV DESCRIPTION DATE ENGR

PROVIDED. CONSULT WITH VIRGINIA PANEL CORPORATION ENGINEERING IF MORE DETAIL IS REQUIRED. A | DRAWING ORIGINATION - ECN #4448 2/8/13 M STEVENS

[98.81] [7.62]
3.89 .30 REF.

%1

— ,— MODULE B1
] MODULE A1, A2 PIN LOCATION 1

PIN LOCATION 1 —\

[60.96]
2.40

D)
D)
D)

[ ]
©
©

4)\/

[3.18] __
13

4 \ Y \
| |
19 POSITION VPC MODULE
, P/N 510104123
2PLCS RECOMMENDED PANEL
[161.29] | CuTOUT
6.35
[167.64]
60
_— MODULEB?
PIN LOCATION 19
d ] <z J

- + ¥
MODULE A1, A2 / \

- PIN LOCATION 256—1 (- o
] ®
. - Q@ [3.81]
[20.19] | [3.68] [3.26] R.lsTYgAAx.
1.14 .80 15 FOR MOUNTING USE: ® .13 THRU HOLE. ’

REF - [101.35] 4-40 OR M3 METRIC TAPPED HOLE
3.99 (SUPPLIED WITH 4X 4-40 SCREWS,
MATING VIEW LOCK WASHERS & NUTS)

@
©

Q
0 ©
.

©®

OO0 &
QOO0 |l
JOOO

CO©®
Y000

@ OIGICICICICIE)]

]

@©I®]©

IOICIOI®© ®I®I®I@I@I®I
T
( OO0
’w@%@@©

T
)

256 POSITION MODULE
P/N 510104149——|

=
=

YOO

QO
‘@@3@) ©
Sex

O000000Q
O000000Q

@)

x@@@@@v
7
©

©© QO

[©1®)
@©I©I®

Q0O
©00

Q00

@IOICICI®

N

‘é

200
.
o]

@IOIOX
VOLKO0O
QOO Q0

Q
{PIPIPIEICEEPIPIPIEEICI®ICLEEEICICIPIPIPIOI® @

@ICICIE)E@)
Q000

OO0
IS

9

e
©

5

O00000Q0

©
QO
CIOIOIOI®

O ©OICIOIOICIOIOIOIC©OIOIOIO®)

o
(=
© (0O

i

0 IQOCCO000Q0

C

@)

A MINIMUM DISTANCE SHOULD INCREASE WHEN USING A CUSTOM ENCLOSURE ON AN ITA THAT IS WIDER THEN 4.0 INCHES. CUSTOMER DRAWING

3. INCLUDED MOUNTING HARDWARE: (4) 4-40 x .375 SOCKET HEAD CAP SCREWS, (4) #4 WASHERS AND (4) 4-40 HEX NUTS. VIRGINIA PANEL CORPOWBVﬁ\IL?yA

RECEIVER ICON 960 W/

2. 3/32" ALLEN WRENCH INCLUDED FOR MODULE MOUNTING. EAEC oS ('I ) 256 TP & (2) ‘I 9 MPWR

AND MAY VARY WITH PINOUT

DIMENSIONS ARE SHOWN AS: [SIZE [CAGE CODE

DWG.NO. REV
1. FOR APPLICATION USE & CARE INFORMATION CONSULT VPC USERS GUIDE @ WWW.VPC.COM [MILLIMETERS] Cl 18117 310124405

NOTES:
INCHES SCALE: 1:2 |310124405  2/8/13| SHEET 1 OF 1

4 ! 3 A 2 | 1




